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MGSE-009 : GENDER ISSUES IN WORK, 
EMPLOYMENT AND PRODUCTIVITY 

Time : 3 hours 	 Maximum Marks : 100 

Note : Answer any five of the following questions. 

All questions carry equal marks. 

1. How does under-valuation of women's labour 20 
contribute to the wage gap ? Explain in detail. 

2. Give an account of the time use survey and 20 
analyse its importance from a gender perspective. 

3. Analyse the linkage between unpaid work and 20 
quality of life for women. 

4. Analyse the political economy of house work. 20 
What are the latest trends in measuring it ? 

5. Critically examine structures of wages across 20 
regions. List various measures to equalize them. 

6. How should we incorporate women's work into 20 
the system of National Accounts ? 

7. Analyse the role of women in pre - industrial and 20 
industrial societies. 
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8. 	Write short notes on any four of the following : 
(a) Care economy 	 4x5=20 
(b) Affirmative action 
(c) Equity and equality 
(d) Production of life 
(e) Segmentation in the labour market 
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